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Que.1

(a) Define Geometric Distribution and write it’s main properties.

(b) A person aims a target. The probability that he will the target in aﬁy trial is 0.2,
Find the probability that he will the target third time at the eight trial.

(¢) There are 50 screws in a packet of which 6 are defective, If 10 screws are taken
at random from the packet , Find the probability that none of them are defective,

OR

(2 ) Define Negative Binomial Distribution and write it’s main properties,

(b) Assuming that the probability that a male child is born to a woman is 1/3.
Find the probability that the third child born to a woman is a first male child.

(¢ ) There are 10 Breeza and 8 Baleno cars with a company. From them 4 cars are

in repair in a workshop. Find the probabilities that of these cars there are 1 Breeza
and 3 Baleno cars . ‘

Que.2 _
(a) What is mean by Theory of Game? Explain Principle of Dominance.

(b} The payoff matrix of two players is given below. Decide the best
strategy for both player and also find value of Game, '

(1) Player B

1 9 6 0
2 3 8 -1

Player A 5 _ 7 10. _3
7 4 -2 -51

(2) Player B

: 9 8 -7

PlayerA [3 —6 4

' 6 . 7 ~7
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OR
( ) What is mean by Sequencing? Explain in detail.

(b) In a company, there are $t% jobs to perform, each of which should
go through two machines A and B, in the order A and B. The processing
timings ( in hours) for the job are given below. Determine the sequence
of performing jobs to minimize total elapsed time . Also find total time
for machine A and B.

Machine Processing Time ( In hours)
Jobs |1 2 3 4 5 6
A 1 3 8 5 6 3
B 5 6 3 2 2 10
Que.3

( a ) Explain methods of collecting Demographic Statistics .

(b ) From the following data of two cities which city may be regarded
healthier?

Age City A Deaths of | City B Deaths of
(In Years) Population city A Population city B
0-6 10,000 700 4,000 280

6-20 15,000 185 9,000 80
20-40 30,000 125 40,000 220
40-60 25,000 500 45,000 1500
More than 60 | 5000 650 6,000 1000

OR

(a) Find GFR , SER and T.F.Rand also find C BRif population of a city is
2.5 lakhs for the following information: |

Age 18-22 | 2327 | 28-32 | 33-37 | 38-42 | 43-47

(In years)

No. of females 30 28 22 15 10 |6
{In thousand)

Total no. of live births | 1500 | 3600 | 3000 | 1000 | 540 |25
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(b)) From the following data of two cities which city may be regarded

heaithier?
Age City A Deaths of | City B Deaths of Standard
(In Years) | Population city A Population city B population

W

0- 15 5000 105 3200 80 3000
15-35 7500 120 4000 60 8000
35- 55 12000 144 6500 104 15000
More than | 5500 110 1300 39 4000
55
Qued

(a) Explain Single sampling plan and Consumer risk in reference to Product
Control Techniques.

(b) For single sampling plan (50,5,0) if AQL=p’1=0.04 and LTPD= p’,=0.08 is
given. Find Producer’s risk.

OR

(a) The following results are obtained from different sampling plan.
Plan.1 (1000,150,2), P,=0.809
Plan.2 ( 2000, 200, 1), P, =0.736

Which plan is better in reference to cost.

(b) For a single Sampling Plan ( 10000,300,1), Find Producer’s risk and AOQ
when the fraction defective of the lot is 0.5 percentage.(e'® = 0,2232)
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(a) il [Quats uisst Doeictoll Adl umond.
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Gu AR A A2 A AL B Az B
(CLEH dadl e, azdl Hey,
0-6 10,000 700 4,000 280
6-20 15,000 185 5,000 80
20-40 30,000 125 40,000 220
40-60 25,000 900 45,000 1500
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Gua A2 A WA |3k B Ak B YRl

erdui) aadl ey ardl "y adl w

0- 15 5000 105 3200 80 3000

15-35 7500 120 4000 60 8000

35-55 12000 144 6500 104 15000

sselay | 5500 110 1300 39 4000
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(b) As [RAesdlet Deaoll (50,5,0) HB R AQL=p"1=0.04 A LTPD= pr=0.083L Al (9)
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Al%aill (1000,150,2), P,=0.809

A%el2 (2000200, 1), P, =0.736

(b) As [Redlot Qoyalt (10000,300,1) M2 UM of wilyriet 05250 Sl A (9)
Bllesa] sl uel AOQ L. (e = 0.2232) .
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